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(- ) #4844 (Process Control Block )
(=) %# 7% (Multi-thread)
(=) ¢ 2R 5742 ;% ( Medium-term Scheduler)
(2 ) @ﬁ%] R % 15 2 (Transport Layer Security )

(I ) #HH: %45 4« 5 (Symmetric Cryptosystem )
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( = ) Convert the following two’s complement representation to its equivalent

base ten (i.e. decimal) representation. (8 4 )
(i) 11101111  (ii) 00001101

( = ) What is the difference between stack data structure and queue data structure?
(9 %)

( = ) Convert the decimal number 15 and -9 into 8-bit 2’s complement numbers

and hexadecimal numbers. (8 4 )

-~ Consider the following graph:

A @ :
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(- ) Draw a tree showing all paths from A and highlighting those that are
Hamiltonian circuits. (12 4 )

( = ) How many paths have to be examined? (13 4 )
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